
CHEMISTRY

BOOKS - TARGET CHEMISTRY (HINGLISH)

REDOX REACTIONS

Classical Thinking

1. Which of the following represents a chemical reaction ?

A. Oxidation -reduction reaction

B. Acid-base neutralization reaction

C. Precipitation reaction

D. All of these

Answer: D

W t h Vid S l ti

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_qcuKwQDHejfO


Watch Video Solution

2. Oxidation involves

A. loss of electrons

B. gain of electrons

C. increase in the valency of negative part

D. decrease in the valency of positive part

Answer: A

Watch Video Solution

3. A metal ion  loses 3 electrons its oxidation number will be

A. 

B. 

C. 0

M + 2

+3

+5

https://dl.doubtnut.com/l/_qcuKwQDHejfO
https://dl.doubtnut.com/l/_FENwvr7z1O81
https://dl.doubtnut.com/l/_GussqYG0o7BE


D. 

Answer: B

Watch Video Solution

−3

4. In the course of a chemical reaction an oxidant -

A. loses electron(s)

B. gains electron(s)

C. undergoes oxidation

D. combines with oxygen

Answer: B

Watch Video Solution

5. A reducing agent is a substance Which can:

https://dl.doubtnut.com/l/_GussqYG0o7BE
https://dl.doubtnut.com/l/_xl7hBtXCDse8
https://dl.doubtnut.com/l/_UJz6ZqNMPWWl


A. accept electrons

B. accept protons

C. donate electrons

D. donate protons

Answer: C

Watch Video Solution

6. Which of the following is CORRECT regarding reductant ?

A. It causes oxidation of the other chemical species involved in the

reaction

B. Itself undergoes reduction.

C. it undergoes increase in oxidation number.

D. It accepts electron(s)

Answer: C

https://dl.doubtnut.com/l/_UJz6ZqNMPWWl
https://dl.doubtnut.com/l/_VY6TBI6E3QQt


Watch Video Solution

7. For the reaction,  which of the following is

the CORRECT statement ?

A. Zn is reduced to 

B. Zn is oxidized to 

C.  is oxidized to Zn.

D.  is oxidized to Cu.

Answer: B

Watch Video Solution

Zn + Cu2 → Zn2 + + Cu

Zn2 +

Zn2 +

Zn2 +

Cu2 +

8. The oxidation number of monoatomic ions is always .

A. zero

B. an even number

____________

https://dl.doubtnut.com/l/_VY6TBI6E3QQt
https://dl.doubtnut.com/l/_XKqheC34j4yk
https://dl.doubtnut.com/l/_aDwkGVmG8auX


C. equal to half of the ionic charge

D. equal to charge of the ions

Answer: D

Watch Video Solution

9. Metals exhibit _______ oxidation states in their 

compounds.

A. always positive

B. always negative

C. always zero

D. either positive, negative or zero.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_aDwkGVmG8auX
https://dl.doubtnut.com/l/_ecS5AZbRtVwI
https://dl.doubtnut.com/l/_ohWW4VCihQzv


10. Hydrogen can have  oxidation number ( s) .

A. only -1

B. only +1

C. only 0

D. 

Answer: D

Watch Video Solution

____________

−1, 0, + 1

11. An element which never has a positive oxidation number in any of its

compounds

A. boron

B. oxygen

C. chlorine

D. fluorine.

https://dl.doubtnut.com/l/_ohWW4VCihQzv
https://dl.doubtnut.com/l/_hcf7IhxoVjgG


Answer: D

Watch Video Solution

12. Oxidation number of nitrogen can be -

A. to +5

B.  and + 5

C.  and + 5

D.  and 

Answer: A

Watch Video Solution

−3

+3

−3, + 3

−3 +3

13. The oxidation number of C in sucrose  is

A. 

(C12H22O11)

+4

https://dl.doubtnut.com/l/_hcf7IhxoVjgG
https://dl.doubtnut.com/l/_zyy4a7UUrhLM
https://dl.doubtnut.com/l/_iOHYOYv0Zveb


B. 

C. 

D. 0

Answer: D

Watch Video Solution

+3

+2

14. Oxidation number of chlorine in  is .

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

HClO4 ____________

+1

−1

−7

+7

https://dl.doubtnut.com/l/_iOHYOYv0Zveb
https://dl.doubtnut.com/l/_i4bJonGSbDya
https://dl.doubtnut.com/l/_sJFxCsBq0G6B


15. The oxidation number of sulphur in  is .

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

S2O
− 2
7 ______________

+6

−6

+7

+4

16. In which of the following compounds, carbon is in the lowest oxidation

state ?

A. 

B. 

C. 

D. 

CH4

CF4

CO2

CCl4

https://dl.doubtnut.com/l/_sJFxCsBq0G6B
https://dl.doubtnut.com/l/_MAqcQZ3mYInl


Answer: A

Watch Video Solution

17. In which of the following compound chlorine has highest oxidation

number ?

A. KCl

B. HClO

C. 

D. 

Answer: D

Watch Video Solution

HClO2

HClO4

18. In which of the following reactions, the underlined substance has been

oxidised?

https://dl.doubtnut.com/l/_MAqcQZ3mYInl
https://dl.doubtnut.com/l/_LR9CGLYMs8mB
https://dl.doubtnut.com/l/_K5KdgZYxfILN


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Br2––––
+ H2S → 2HBr + S

2HgCl2–––––––––
+ SnCl2 → Hg2Cl2 + SnCl4

Cl2 + 2KI––––– → 2KCl + I2

2Cu2 +

–––––––– + 4I − → Cu2I2 + I2

19. In the reaction , , .

A. Na gets oxidized while  gets reduced

B. Na gets reduced while  gets oxidized

C. only  gets reduced

D. only  gets oxidised.

Answer: A

Watch Video Solution

2Na + Cl2 → 2NaCl _______________

Cl2

Cl2

Na

Cl2

https://dl.doubtnut.com/l/_K5KdgZYxfILN
https://dl.doubtnut.com/l/_f5CV5mYGmSzI


20. Which of the following reactions involve both oxidation and reduction

?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

NaBr + HCl → NaCl + HBr

HBr + AgNO3 → AgBr + HNO3

H2 + Br2 → 2HBr

2NaOH + H2SO4 → Na2SO4 + 2H2O

21. Which of the following is NOT a redox reaction ?

A. 

B. 

C. 

CaCO3 → CaO + CO2

O2 + 2H2 → 2H2O

Na + H2O → NaOH + 1/2H2

https://dl.doubtnut.com/l/_f5CV5mYGmSzI
https://dl.doubtnut.com/l/_bqvQ1dmx2vOa
https://dl.doubtnut.com/l/_Xjq2PrVgYOgg


D. 

Answer: A

Watch Video Solution

3H3AsO3 ( aq ) + BrO−
3 (aq) → Br−

( aq )
+ 3H3AsO4 ( aq )

22. Which of the following is not a redox reaction ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

11Al ( s ) + 3BiONO3 ( s ) + 21H2O ( l ) + 11OH −
( aq )

→ 3Bi ( s ) + 3NH

5H2C2O4 ( aq ) + 2MnO−
4 ( aq )

+ 6H +
( aq )

→ 10CO2 ( g ) + 2Mn2 +
( aq )

+ 8H

AgNO3 + NaCl → AgCl + NaNO3

Zn + H2SO4 → ZnSO4 + H2

https://dl.doubtnut.com/l/_Xjq2PrVgYOgg
https://dl.doubtnut.com/l/_K0D8EZIu4XlH
https://dl.doubtnut.com/l/_RlWNpxlglF3N


23. The reaction in which hydrogen peroxide acts as a reducting agent is .

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

PbS + 4H2O2 → PbSO4 + 4H2O

2KI + H2O2 → 2KOH + I2

2FeSO4 + H2SO4 + H2O2 → Fe2(SO4)3 + 2H2O

Ag2O + H2O2 → 2Ag + H2O + O2

24. Which of the following equation is a balanced equation ?

A. 

B. 

C. 

D. 

FeS2 + 4O2 → 8SO2 + 2Fe2O3

4FeS2 + 6O2 → 2Fe2O3 + 8SO2

4FeS2 + 11O2 → 2Fe2O3 + 8SO2

2FeS2 + 11O2 → Fe2O3 + 6SO2

https://dl.doubtnut.com/l/_RlWNpxlglF3N
https://dl.doubtnut.com/l/_lsvwRZQjnbpN


Answer: C

Watch Video Solution

25. Which of the following is INCORRECT ?

A. Balancing of equations of redox reactions by oxidation number

method involves the principle that net change in the total oxidation

numbers is zero.

B. While balancing of equations of redox reactions by ion-electron

method, the overall reaction is split into two half reactions.

C. The equations are balanced with respect to both, atoms as well as

charges.

D. In balancing of equations by oxidation number method, the first

step involves writing the unbalanced net equation and balancing all

the atoms present in it.

https://dl.doubtnut.com/l/_lsvwRZQjnbpN
https://dl.doubtnut.com/l/_RSx66cMlAChl


Answer: D

View Text Solution

26. Burning of methane with oxygen from air is an example of oxidation. It

is also called as .

A. bleaching

B. metallurgy

C. combustion

D. respiration

Answer: C

Watch Video Solution

______________

27. Decolourization of coloured material is called as ._____________

https://dl.doubtnut.com/l/_RSx66cMlAChl
https://dl.doubtnut.com/l/_Z3fGwbIglsMD
https://dl.doubtnut.com/l/_G0a3VjMXDPuU


A. bleaching

B. corrosion

C. combustion

D. respiration

Answer: A

Watch Video Solution

28. To remove stains from clothes  is used.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

____________

NaCl

NaOH

Na2O2

NaOCl

https://dl.doubtnut.com/l/_G0a3VjMXDPuU
https://dl.doubtnut.com/l/_NBNLSbuk7O7W


29. The metallic elements are extracted from their respective ores by

.

A. precipitation reactions

B. acid-base neutralisation

C. redox reactions

D. complexometric titrations

Answer: C

Watch Video Solution

____________

30. Sulphide minerals are converted to corresponding oxides by

.

A. cracking

B. coke

___________________

https://dl.doubtnut.com/l/_NBNLSbuk7O7W
https://dl.doubtnut.com/l/_tdgqJ8jyTFMX
https://dl.doubtnut.com/l/_JoQXCbB9gyBS


C. roasting

D. bleaching

Answer: C

Watch Video Solution

31. Respiration involves  reaction.

A. only oxidation

B. only reduction

C. redox

D. neutralization

Answer: C

Watch Video Solution

_________________

https://dl.doubtnut.com/l/_JoQXCbB9gyBS
https://dl.doubtnut.com/l/_Nc657CQHIjr3


Critical Thingkin

32. Which of the following involves the redox reaction ?

A. Corrosion of metals.

B. Extraction of metals from their ores.

C. Respiration.

D. All of these

Answer: D

Watch Video Solution

1. In a conjugate pair of reductant and oxidant, the oxidant has

A. higher oxidation number

B. lower oxidation number

________________

https://dl.doubtnut.com/l/_7rBF6KsRLFVo
https://dl.doubtnut.com/l/_jlwGPAcJbsLO


C. same oxidation number

D. either of these

Answer: A

Watch Video Solution

2. When  changes to  in a reaction,then .

A. It is an oxidation as  loses two electrons

B. it is an oxidation as  gains two electrons

C. it is a reduction as  loses two protons

D. it is a reduction as  gains two protons

Answer: A

Watch Video Solution

Sn2 + Sn4 + _____________

Sn2 +

Sn2 +

Sn2 +

Sn2 +

https://dl.doubtnut.com/l/_jlwGPAcJbsLO
https://dl.doubtnut.com/l/_Q23Y8445zvdw


3. A redox reaction is always a  an .

A. proton transfer reaction

B. ion combination reaction

C. reaction in solution

D. electron transfer reaction

Answer: D

Watch Video Solution

/ _____________

4. Which of the following represents redox reaction ?

A.  dil. HCl 

B. conc. 

C. dil. 

D. 

NaOH ( a ) + → NaCl ( aq ) + H2O ( l )

KOH ( aq ) + HNO3 → KNO3 ( aq ) + H2O ( l )

BaCl2 ( aq ) + H2SO4 → BaSO4 ( s ) + 2HCl ( aq )

Fe ( s ) + CuSO4 ( aq ) → FeSO4 ( aq ) + Cu ( s )

https://dl.doubtnut.com/l/_XMTEyYLu74dr
https://dl.doubtnut.com/l/_MeZTCUzEdKNm


Answer: D

Watch Video Solution

5. Oxidation number of carbon in carbon suboxide  is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(C3O2)

+2/3

+4/3

+4

−4/3

6. Oxidation state of nitrogen is CORRECTLY given for .

A. 

_______________

Compound Oxidation state

HNO3 −5

https://dl.doubtnut.com/l/_MeZTCUzEdKNm
https://dl.doubtnut.com/l/_17ez7ET8l204
https://dl.doubtnut.com/l/_JUls3jrkqT6Y


B. 

C. 

D. 

Answer: D

Watch Video Solution

Compound Oxidation state

NH2OH +1

Compound Oxidation state

(N2H5)2SO4 +2

Compound Oxidation state

Mg3N2 −3

7. In which of the following compounds , the oxidation number of iodine

is fractional ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

IF7

I −
3

IF5

IF3

https://dl.doubtnut.com/l/_JUls3jrkqT6Y
https://dl.doubtnut.com/l/_FpQUNpqoVjt9


8. The oxidation number of sulphur in  respectively

are:

A.  and -2

B.  and -2

C.  and 

D.  and -2

Answer: A

Watch Video Solution

S8, S2F2 and H2S

0, + 1

+2, + 1

0, + 1 +2

−2, + 1

9. The oxidation number of the underlined element in  is 

.

A. 

B. 

K4P2–––
O7

_______________

+3

−5

https://dl.doubtnut.com/l/_FpQUNpqoVjt9
https://dl.doubtnut.com/l/_WuijjeB86sTA
https://dl.doubtnut.com/l/_rWwkeE1dQVGH


C. 

D. 

Answer: C

Watch Video Solution

+5

+6

10. What will be the oxidation state of copper in  , if

oxidation state of Y is  ?

A. 

B. 7

C. 3 and 5

D. 

Answer: A

Watch Video Solution

YBa2Cu3O7

+3

7/3

3/7

https://dl.doubtnut.com/l/_rWwkeE1dQVGH
https://dl.doubtnut.com/l/_qRVCkh87B9hc
https://dl.doubtnut.com/l/_ANsJBXCebYhn


11. The pair of compounds having metals in their highest oxidation state

is .

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

________________

MnO2, FeCl3

V2O5, CrO3

Mn2O3, V2O3

V2O3, SnCl2

12. The oxidation number of Mn is  in

A. manganese dioxide

B. manganese chloride

C. manganese sulphate

D. potassium permanganate

+7

https://dl.doubtnut.com/l/_ANsJBXCebYhn
https://dl.doubtnut.com/l/_G6lwqEXbAsR3


Answer: D

Watch Video Solution

13. In the reaction, 

, the substance

which gets reduced is .

A.  is reduced to 

B. 

C. 

D. 

Answer: C

Watch Video Solution

4Zn + NO−
3 + 7H2O → 4Zn2 + + NH

+
4 + 10OH −

______________

Zn Zn2 +

H2O

NO−
3

NH
−

4

14. In which of the folowing rection nitrogen is not reduced ?

https://dl.doubtnut.com/l/_G6lwqEXbAsR3
https://dl.doubtnut.com/l/_FHz5Q3jhEWKK
https://dl.doubtnut.com/l/_oN4j4C2zHg1G


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

NO2 → NO+
2

NO−
3 → NO

NO−
3 → NH

+
4

NH
+

4 → N2

15. Which of the following involves gain of five electrons ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

MnO
−
4 → Mn2 +

CrO
2 −
4 → Cr3 +

MnO
2 −
4 → MnO2

Cr2O
2 −
7 → 2Cr3 +

https://dl.doubtnut.com/l/_oN4j4C2zHg1G
https://dl.doubtnut.com/l/_dNSbn5q40CWS


16. Which among the following is a redox reaction ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Ca(OH)2 + 2HCl → CaCl2 + 2H2O

BaCl2 + MgSO4 → BaSO4 + MgCl2

2S2O
2 −
7 + 2H2O → 4SO2 −

4 + 4H +

Cu2S + 2FeO → 2Cu + 2Fe + SO2

17. In which of the following reactions, the underlined substance has been

reduced ?

A. 

B. 

C. 

CO–––– + CuO → CO2 + Cu

CuO––––– + 2HCl → CuCl2 + H2O

4H2O ( g )
––––––––––

+ 3Fe → 4H2 ( g ) + Fe3O4

https://dl.doubtnut.com/l/_dNSbn5q40CWS
https://dl.doubtnut.com/l/_EM0xGOeMl4yX
https://dl.doubtnut.com/l/_qpAYoPmMyFlb


D. 

Answer: C

Watch Video Solution

C–– + 4HNO3 → CO2 + 2H2O + 4NO2

18. Which substance is serving as a reducing agent in the following

reaction? 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

14H + + Cr2O
2 −
7 + 3Ni → 2Cr3 + + 7H2O + 3Ni2 +

H2O

Ni

H +

Cr2O
2 −
7

https://dl.doubtnut.com/l/_qpAYoPmMyFlb
https://dl.doubtnut.com/l/_vzlI3FZTqq1y
https://dl.doubtnut.com/l/_IVdrUpgGB3CN


19. Nitric oxide acts as a reducing agent in which of the following reaction

?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

4NH3 + 5O2 → 4NO + 6H2O

2NO + 3I2 + 4H2O → 2NO−
3 + 6I − + 8H +

2NO + H2SO3 → N2O + H2SO4

2NO + H2S → N2O + S + H2O

20. In a reaction between zinc and iodine in which zinc iodide is formed,

what is being oxidised ?

A. Zinc ions

B. Iodide ions

C. Zinc atom

https://dl.doubtnut.com/l/_IVdrUpgGB3CN
https://dl.doubtnut.com/l/_vKfTvRiuJrEi


D. Iodine

Answer: C

Watch Video Solution

21. In the reaction 

 


the number of electrons transferred from the reductant to the oxidant is

A. 8

B. 4

C. 16

D. 24

Answer: D

Watch Video Solution

8Al + 3Fe3O4 → 4Al2O3 + 9Fe

https://dl.doubtnut.com/l/_vKfTvRiuJrEi
https://dl.doubtnut.com/l/_Ftxa36BOFyV0
https://dl.doubtnut.com/l/_GK9oyCWz1bXC


22. In the reaction: 

 


Which element is reduced? 

A. Cr

B. H

C. O

D. I

Answer: A

Watch Video Solution

Cr2O
2 −
7 + 14H ⊕ + 6I Ө → 2Cr3 + + 3H2O + 3I2

23. Consider the following reactions, 

 


In this equation, ratio of the coefficient of  and  is

A. 

B. 

C2H6(g) + nO2 → CO2(g) + H2O(l)

CO2 H2O

1: 1

2: 3

https://dl.doubtnut.com/l/_GK9oyCWz1bXC
https://dl.doubtnut.com/l/_uiGivvWmvQoH


C. 

D. 

Answer: B

Watch Video Solution

3: 2

1: 3

24.  is used as an oxidizing agent to bleach dark hair

by a redox reaction.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

_________________

H2O

HO2

H2O2

HO−

https://dl.doubtnut.com/l/_uiGivvWmvQoH
https://dl.doubtnut.com/l/_leiFID8pjRDV
https://dl.doubtnut.com/l/_aBlIlsyF2NWE


25. Which of the following CORRECTLY represents the reactions occuring

in Daniel cell ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH4 ( g ) + O2 ( g ) → CO2 ( g ) + 2H2O ( l )

Mg ( s ) + O2 ( g ) → MgO ( s )

Zn ( s ) + Cu2 +
( aq )

→ Zn2 +
( aq )

+ Cu ( s )

2ZnS ( s ) + 3O2 ( g )

heat
−−→ 2ZnO ( s ) + 2SO2 ( g )

26. The overall effect of respiration is similar to that of .

A. photosynthesis

B. corrosion

C. combustion

D. bleaching

_______________

https://dl.doubtnut.com/l/_aBlIlsyF2NWE
https://dl.doubtnut.com/l/_duqI54CQNb0F


Answer: C

Watch Video Solution

27. The violent reaction between sodium and water is an example of

.

A. reduction

B. oxidation

C. redox reaction

D. neutralization reaction

Answer: C

Watch Video Solution

_________________

28. Hydrogen acts as an oxidizing agent when it is reacted with

._________________

https://dl.doubtnut.com/l/_duqI54CQNb0F
https://dl.doubtnut.com/l/_Ykfph9EzNHU0
https://dl.doubtnut.com/l/_FlGYsIVvyFGs


A. iodine to give hydrogen iodide

B. lithium to give lithium hydride

C. nitrogen to give ammonia

D. sulphur to give hydrogen sulphide

Answer: B

Watch Video Solution

29. Which of the following is a redox reaction ?

A. Reaction of  with NaOH

B. Formation of  from  by lightning in atmosphere

C. Formation of nitric oxide from nitrogen and oxygen by lightning

D. Evaporation of .

Answer: C

Watch Video Solution

H2SO4

O3 O2

H2O

https://dl.doubtnut.com/l/_FlGYsIVvyFGs
https://dl.doubtnut.com/l/_HNzOHYxL1DKw


Competitive Thinking

1. Identify the element which can have highest oxidation numbers

A. N

B. O

C. Cl

D. C

Answer: C

Watch Video Solution

2. The oxidation state of  in  is

A. 

B. 

Fe Fe3O8

+3/2

+4/5

https://dl.doubtnut.com/l/_HNzOHYxL1DKw
https://dl.doubtnut.com/l/_m1v38dkZEoXG
https://dl.doubtnut.com/l/_jHcJmn7mc7Ub


C. 

D. 

Answer: D

Watch Video Solution

+15/4

+16/3

3. Oxidation state of oxygen in  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

F2O

+1

+2

−1

−2

https://dl.doubtnut.com/l/_jHcJmn7mc7Ub
https://dl.doubtnut.com/l/_deixerWATXXQ


4. The oxidation number of carbon in  is

A. 0

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH2Cl2

+2

−2

+4

5. The oxidation sates of iodine in  and  are

respectively :

A. 

B. 

C. 

D. 

HIO4, H3IO5 H5IO6

+1, + 3, + 7

+7, + 7, + 3

+7, + 7, + 7

+7, + 5, + 3

https://dl.doubtnut.com/l/_jFYe7KndYrhK
https://dl.doubtnut.com/l/_qfuSDxZAjdLZ


Answer: C

Watch Video Solution

6. Oxidation number of nitrogen in  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

NaNO2

+2

+3

+4

−3

7. The oxidation state of iodine in  is:

A. 

H4IO
−
6

+7

https://dl.doubtnut.com/l/_qfuSDxZAjdLZ
https://dl.doubtnut.com/l/_kCrEq9Ig2sDG
https://dl.doubtnut.com/l/_hEJ54ktt8KDG


B. 

C. 

D. 

Answer: A

Watch Video Solution

+5

+1

−1

8. In which of the following compounds, nitrogen exhibits highest

oxidation state?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

N2H4

NH3

N3H

NH2OH

https://dl.doubtnut.com/l/_hEJ54ktt8KDG
https://dl.doubtnut.com/l/_9Glu2l1TOV2Z


9. What is the net charge on ferrous ion ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

+2

+3

+4

+5

10. The oxidation state of  in  is

A. 

B. 

C. 

D. 

Fe Fe3O8

3

2

4

5

5

4

16

3

https://dl.doubtnut.com/l/_9Glu2l1TOV2Z
https://dl.doubtnut.com/l/_zQrkXnelmWa6
https://dl.doubtnut.com/l/_BUGyIw1YNYBS


Answer: D

Watch Video Solution

11. Which ordering of compounds is according to the decreasing order of

the oxidation state of nitrogen ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

HNO3, NO, NH4Cl, N2

HNO3, NO, N2, NH4Cl

HNO3, NH4Cl, NO, N2

NO, HNO3, NH4Cl, N2

12. If  changes into , the oxidation number is changed byHNO3 N2O

https://dl.doubtnut.com/l/_BUGyIw1YNYBS
https://dl.doubtnut.com/l/_SLhxFwhb2S8F
https://dl.doubtnut.com/l/_4JYKjXPQc3mX


A. 

B. 

C. 0

D. 

Answer: D

Watch Video Solution

+2

−1

+4

13. Which of the following reactions is an example of redox reactions ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

XeF4 + O2F2 → XeF6 + O2

XeF2 + PF5 → [XeF ] +
PF −

6

XeF6 + H2O → XeOF4 + 2HF

XeF6 + 2H2O → XeO2F2 + 4HF

https://dl.doubtnut.com/l/_4JYKjXPQc3mX
https://dl.doubtnut.com/l/_wvNEZTPqiTTV


14. Which is the best description of the behaviour of bromine in the

reaction given below 

A. Oxidised only

B. Reduced only

C. Proton aceptor only

D. Both oxidised and reduced.

Answer: D

Watch Video Solution

H2O + Br2 → HOBr + HBr

15. Which of the following chemical reactions depicts the oxidising

behaviour of ?

A. 

H2SO4

2HI + H2SO4 → I2 + SO2 + 2H2O

https://dl.doubtnut.com/l/_wvNEZTPqiTTV
https://dl.doubtnut.com/l/_JAigPcHofr3o
https://dl.doubtnut.com/l/_f2EuQ09C1Mb9


B. 

C. 

D. 

Answer: A

Watch Video Solution

Ca(OH)2 + H2SO4 → CaSO4 + 2H2O

NaCl + H2SO4 → NaHSO4 + HCl

2PCl5 + H2SO4 → 2POCl3 + 2HCl + SO2Cl2

16. Hot concentrated sulpuric acis is a moderatly strong oxidizing agent.

Which of the following reaction does not shwo oxidizing behaviour?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CaF2 + H2SO4 → CaSO4 + 2HF

Cu + 2H2SO4 → CuSO4 + SO2 + 2H2O

2S + 2H2SO4 → 2SO2 + 2H2O

C + 2H2SO4 → CO2 + 2SO2 + 2H2O

https://dl.doubtnut.com/l/_f2EuQ09C1Mb9
https://dl.doubtnut.com/l/_LJ8yzaSuCRmj


17. In the balanced equation - 

 


Find  and  .

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

5H2O2 + xClO2 + 2OH − → xCl− + yO2 + 6H2O

x y

x = 5, y = 2

x = 2, y = 5

x = 4, y = 10

x = 5, y = 5

18. Consider the following reaction 

 


The value of x, y and z in the reaction are respectively

xMnO
−
4 + C2O

2 −
4 + zH + → xMn2 + + 2yCO2 + H2O

z

2

https://dl.doubtnut.com/l/_LJ8yzaSuCRmj
https://dl.doubtnut.com/l/_GAAKe0SAKwM4
https://dl.doubtnut.com/l/_tN4Yc7St7X8K


A. 5,2 and 8

B. 5,2 and 16

C. 2,5 and 8

D. 2,5 and 16

Answer: D

Watch Video Solution

19. Following reaction describes the rusting of iron 

 


Which one of the following statements is incorrect?

A. This is an example of a redox reaction.

B. Metallic iron is reduced to 

C.  is an oxidizing agent.

D. Metallic iron is a reducing agent.

4Fe + 3O2 → 4Fe3 + + 6O2 −

Fe3 +

Fe3 +

https://dl.doubtnut.com/l/_tN4Yc7St7X8K
https://dl.doubtnut.com/l/_vIrt7OOc9Czr


Answer: B

Watch Video Solution

20. Which of the following is the most powerful oxidizing agent?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

F2

Cl2

Br2

I2

21. Which of the following species can function both as oxidizing as well

as reducing agent?

https://dl.doubtnut.com/l/_vIrt7OOc9Czr
https://dl.doubtnut.com/l/_ustnfBVGPjwn
https://dl.doubtnut.com/l/_n1pFLc5yD49n


Evaluation Test

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Cl−

ClO
−
4

CIO−

MnO
−
4

1. When an element sulphur atom becomes a sulphide ion,

.

A. there is no change in the composition of atom

B. it gains two electrons

C. the mass number changes

D. non of these

______________

https://dl.doubtnut.com/l/_n1pFLc5yD49n
https://dl.doubtnut.com/l/_8yjFJcyXE4pU


Answer: B

Watch Video Solution

2. The oxidation number of oxygen in  respectively are:

A. 3,2

B. 1,0

C. 0,1

D. 

Answer: D

Watch Video Solution

KO3, Na2O2

−0.33, − 1

3. In the reaction 

3Br2 + 6CO2 −
3 + 3H2O → 5Br− + 2BrO−

3 + 6HCO−
3

https://dl.doubtnut.com/l/_8yjFJcyXE4pU
https://dl.doubtnut.com/l/_Y3mcT2sYWuRg
https://dl.doubtnut.com/l/_28u1WU7wLDkR


A. oxidized and carbonate is reduced

B. reduced and water is oxidized

C. neither reduced nor oxidized

D. reduce and oxidized

Answer: D

Watch Video Solution

4. In the balanced chemical reaction, 

 


a,b,d and d respectively correspond to 

A. 5,6,3,3

B. 5,3,6,3

C. 3,5,3,6

D. 5,6,5,5

IO−
3 + aI − + bH + → cI2 + dH2O

_____________________

https://dl.doubtnut.com/l/_28u1WU7wLDkR
https://dl.doubtnut.com/l/_xxeGrpgG8uqv


Answer: A

Watch Video Solution

5. Strongest reducing agent is .

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

_______________

F −

Cl−

Br−

I −

6. The oxidation state of Mo in  ion is .

A. 

Mo2Cl
4 −
8 _____________

−4

https://dl.doubtnut.com/l/_xxeGrpgG8uqv
https://dl.doubtnut.com/l/_JCGNYUKpKLg2
https://dl.doubtnut.com/l/_hnleUV8rpQci


B. 

C. 

D. 

Answer: C

Watch Video Solution

−2

+6

+2

7. Which of the following is a set of reducing agents ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

HNO3, Fe2 + , F2

F − , Cl− , MnO
−
4

I − , Na, Fe2 +

Cr2O
2 −
7 , CrO2 −

4 , Na

https://dl.doubtnut.com/l/_hnleUV8rpQci
https://dl.doubtnut.com/l/_6yGb5MvtYCl0
https://dl.doubtnut.com/l/_1itB05axyobh


8. The oxidation number of phosphorus in  is:-

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Ba(H2PO2)2

+3

+2

+1

−1

9. Oxidation number of carbon in diamond is .

A. 

B. 

C. 

D. 

_____________

−4

+4

0

+2

https://dl.doubtnut.com/l/_1itB05axyobh
https://dl.doubtnut.com/l/_CmOppc6BF2O3


Answer: C

Watch Video Solution

10. The oxidation state of S in Caro's acid ( permono sulphuric acid )

 is .

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

H2SO5 _____________

+8

+6

+5

+4

11. Which of the following is a disproportion reaction ?

https://dl.doubtnut.com/l/_CmOppc6BF2O3
https://dl.doubtnut.com/l/_FnNtyVc8C2jD
https://dl.doubtnut.com/l/_cegziNRr9s9h


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

NO−
3 + Cu → NO + Cu2 +

HNO2 → NO−
3 + NO

Zn + O2 → ZnO

S2O
2 −
3 + Cr2O

2 −
7 → S4O

2 −
6 + Cr3 +

12. Which of the following exhibits both  and -4 oxidation states ?

A. Na

B. Si

C. Sn

D. Bi

Answer: B

Watch Video Solution

+4

https://dl.doubtnut.com/l/_cegziNRr9s9h
https://dl.doubtnut.com/l/_3EbThJxXziCO


13. In which of the following compounds does carbon exhibit fractional

oxidation state ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

C4H4O
2 −
6

Na2CO3

C2H5OH

H2C2O4

14. Which of the following statements is INCORRECT ?

A. In oxidation number method, the net change in the total oxidation

number is zero.

https://dl.doubtnut.com/l/_3EbThJxXziCO
https://dl.doubtnut.com/l/_k6pYc989ucRU
https://dl.doubtnut.com/l/_PBj7bgDktKyQ


B. In oxidation number method, an increase in the oxidation number

of the atom undergoing oxidation must be equal to a decrease in

the oxidation number of the atom undergoing reduction.

C. oxidation number method is also called half-reaction method.

D. In ion-element method, the overall reaction is split into two half-

reactions.

Answer: C

View Text Solution

15. In  , the element with minium and maximum oxidation

states are .

A. 

B. 

C. 

ZnNH4PO4

____________________

N( − 3), P ( + 5)

O( − 2), N( + 3)

P ( − 3), Zn( + 2)

https://dl.doubtnut.com/l/_PBj7bgDktKyQ
https://dl.doubtnut.com/l/_SNTH1tAvZtGa


D. 

Answer: A

Watch Video Solution

O( − 2), P ( + 5)

https://dl.doubtnut.com/l/_SNTH1tAvZtGa

